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#include <htec.h>

__CONFIG(FCMDIS & IESODIS & BOREN & UNPROTECT & MCLREN & PWRTEN
& WDTDIS & INTIO);
__IDLOC(0001);

ioport();

timer_10;

unsigned char Flagl,Sec1,Minl,Flag2,Sec2,Min2,Flag3=0;
main()

{
OSCCON=0x41; /* IMHz */

ioport();

timer_10;

ioport()
{

TRISIO=0x03; /* GPO0. GP1 v > iZA Yy | GP2 v iy, GP4 v
v, GPs BT e ¥

ANSEL=0x03; *GPO, GP1 v &7 uaZ AJj®t— RNicd5, 7T
0 V47 v > 71X Fose/2 =2usec */
§

timer_10



/* Timerl #1HIFRE
T1CON = 0x30;
TMR1H = 0x85;
TMR1L = 0xF0;
TMRI1IE = 1;
TMR1ON = 1;
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Flagl= 0;
Secl = 30;
Minl = 0;
Flag2= 0;
Sec2 = 0;
Min2 = 1;
Flag3=1;

while(1){

GPIO=0;
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CMCONO0=0x02;

while(COUT){
GPI05=COUT;
*/
GPIF=0;

I WEk7 v > 7 1/8 4usec
[/ TMR1 Efiit > b
I1'TMR1 Tt > b
I F0 SAHF AT
Il #A~1AF—F¥

[*T1%/

[*T2%/

¥GP v ot T —4%2%0

/¥ CIN+ & CIN-% 92 */

/* COUT OHNE% GP5 v b

*0 242 *
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* Timerl #| VY JAZ LB
* Timerl : 1 #EH#
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void interrupt T1ISR(void){

[FxEx FpZ A < Timerl F| D IAHRLHEL *xk%/

TMR1H = 0x85;
~

TMR1L = 0xFO0;
~

TMRI1IF = 0;
707

if(Flag1){
if(Sec1 == O){
if(Min1 > 0){
Secl =59;
Minl--;

elsel
if(COUTI{
GPIO4=1;
Flag2=1;
H
elsel
GPI104=0;
Flag3=1;
H

else

Secl--;
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}
if(Flag2){

if(Sec2 == 0){

if(Min2 > 0){

Sec2 = 59;
Min2--;
H
elsel
GPI104=0;
Flag3=1;
}
H
else
Sec2--;
if(Sec2==1)GP104=1;
else if(Sec2==16)GP104=1;
else if(Sec2==31)GPI04=1;
else if(Sec2==46)GP104=1;
else GP104=0;
}
if(Flag3){
if(COUT)H
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Flagl=1;
Secl = 0;
Minl =10;
Flag2= 0;
Sec2 = 15;
Min2 = 1;
Flag3= 0;
H
elsel
GPI104=0;

Flag3=1;
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